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narjmWu H$moS >H$mo CÎma-nwpñVH$m Ho$ _wI-n¥ð >na 
Adí` {bIo§ & 
Candidates must write the Code on the 

title page of the answer-book. 

 

 Series HRK  H$moS> Z§.      

 Code No. 

amob Z§. 
Roll No.  

   
 

 

g°>bZmé_HÅ. _yĉ`m°>Z_Ð - II  

SUMMATIVE ASSESSMENT - II  

g§ñH¥$V_²  
SANSKRIT  

Ad{Y¥ : hmoamÌ`_²    nyUm©L²>H.m¥ : 90 

{ZYm©[aV g_` : 3 KÊQ>o    A{YH$V_ A§H$ : 90 

Time allowed : 3 hours Maximum Marks : 90 

¶ H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _o§ _w{ÐV n¥ð> 19 h¢ & 

¶ àíZ-nÌ _| Xm{hZo hmW H$s Amoa {XE JE H$moS >Zå~a H$mo N>mÌ CÎma-nwpñVH$m Ho$ _wI-n¥>ð> na {bI| & 

¶ H¥$n`m Om±M H$a b| {H$ Bg àíZ-nÌ _| >16 àíZ h¢ & 

¶ H¥$n`m àíZ H$m CÎma {bIZm ewê$ H$aZo go nhbo, àíZ H$m H«$_m§H$ Adí` {bI| & 

¶ Bg  àíZ-nÌ  H.mo n«T>Zo Ho. {bE 15 {_ZQ >H$m g_` {X`m J`m h¡ &  àíZ-nÌ H$m {dVaU nydm©¦ _| 
10.15 ~Oo {H$`m OmEJm &  10.15 ~Oo go 10.30 ~Oo VH$ N>mÌ Ho$db àíZ-nê H.mo n«T>|Jo Am¿a 
Bg Ad{Y Ho$ Xm¡amZ do CÎma-nwpñVH$m na H$moB© CÎma Zht {bI|Jo & 

¶ Please check that this question paper contains 19 printed pages.  

¶ Code number given on the right hand side of the question paper should be 

written on the title page of the answer -book by the candidate.  

¶ Please check that this question paper contains 16 questions.  

¶ Plea se write down the Serial Number of the question before 

attempting it.  

¶ 15 minute time has been allotted to read this question paper. The question 
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the 

students will read the question pa per only and will not write any answer on 

the answer -book during this period.  
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IèS>¥ H. : An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ)   15 A°>m¥ 

SECTION A  : Unseen Reading Comprehension  

IèS>¥ I : aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©)  15 A°>m¥ 

SECTION B  : Writing Skills  

IèS>¥ J : AZwà`wªVì`mH$aU_² (AZwà`wº$ ì`mH$aU) 30 A°>m¥   

SECTION C  : Applied Grammar  

IèS>¥ K : n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ)  30 A°>m¥ 

SECTION D  : Reading Comprehension  

 

{ZX}em¥ : 
Instructions :  

(i)  Apñ_Z² þċZnêo Médma¥ IèS>m¥ gpûV & 
 Bg àíZ-nÌ _| Mma IÊS> h¢ & 
 The question paper has fo ur sections. 

(ii)  àË`oH§$ IÊS>_² A{YH¥$Ë` CÎmam{U EH$pñ_Z² ñWmZo H«$_oU boIZr`m{Z & 
 àË`oH$ IÊS> Ho$ CÎma EH$ hr OJh na H«$_ go {bIZo hm|Jo & 
 The answers to each section must be written at one place.  

(iii ) àíZg§»`m àíZnÌmZwgma_² Adí`_od boIZr`m & 
 àíZ-nÌ Ho$ AZwgma àíZ-g§»`m Adí` hr {bIZr hmoJr & 
 Write the question number according to the question paper.  

(iv) gd}fm§ àíZmZm_² CÎmam{U g§ñH¥$VoZ boIZr`m{Z & 
 g^r àíZm| Ho$ CÎma g§ñH¥$V _| {b{IE & 
 Answer all the questions in Sanskrit . 
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IÊS¥> H$ (SECTION A)  

An{R>Vm§e-Ad~moYZ_² (An{R>Vm§e-Ad~moYZ) 

 Unseen Reading Comprehension              15 A°>m¥ 

1. AYmo{b{IV§ AZwÀN>oX§ n{R>Ëdm àXÎmàíZmZ² g§ñH¥$VoZ CÎmaV & 

 {ZåZ{b{IV AZwÞN>oX H.mo n«T>H.a {XE JE þċZm| Ho. Cìma g§ñH¥$V _| Xr{OE & 

 Read the following passage and answer the given questions in Sanskrit . 

           gwÝXaamO: gmo_Xodñ` J¥ho CÚmoJr AmgrV² & g: gmo_Xodo {deof{dídmg§ àXe©`{V 

ñ_ & Xe dfm©{U `mdV² g: gmo_Xodñ` J¥ho H$m`ª H¥$VdmZ², VWm{n gmo_Xod: Vñ` doVZ§ Z 

d{Y©VdmZ² & AV: {IÞ: gwÝXaamO: gmo_Xodñ` J¥hñ` H$m`ª n[aË`Á` XþJ©Xodñ` J¥ho CÚmoJ§ 

àmßVdmZ² & gmo_Xod: `mdV² doVZ§ XXm{V ñ_ VVmo@>{n {ÛJw{UV§ doVZ§ XXm{V ñ_ XþJ©Xod: & 

{dídmg: Vpñ_Z² Ed H.VwÄ e©`Vo6 `ąM {dądmgnmäÁ ^d{V & 

 

 þċZm¥ 

 I.  EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 

  Answer in one word.  1³ 2=2 

(i) gmo_Xodo H$: {deof{dídmg§ àXe©`{V ñ_ ?  

(ii)  XþJ©Xod: {H$`V² doVZ§ XXm{V ñ_ ? 

II.   nyUÇdmª`oZ CìmaV 0 

  nyUÇ dmª` _| Cìma Xr{OE 0 

 Answer in a complete sentence. 2³ 2=4 

(i) gwÝXaamO: {H$`V² dfm©{U `mdV² gmo_Xodñ` J¥ho H$m`ª H¥$VdmZ² ?  

(ii)  {dídmg: H$pñ_Z² Ed H$Vwª eª`Vo ? 
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III.  àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & 

{XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & 

 Choose and write the appropriate answer from the given  

options. 
2

1
³ 4=2  

(H$) ƌ{IÞ:ƍ B{V H$ñ` nXñ` {deofU_² ? 
(i) gmo_Xodñ`  

(ii)  gwÝXaamOñ`  

(iii)  XþJ©Xodñ`  

(iv)  ^r_Xodñ` & 

(I)  ƌd{Y©VdmZ²ƍ B{V {H«$`mnXñ` qH$ H$V©¥nX§ JÚm§eo þ`wªV_² ? 
(i) gwÝXaamO: 

(ii)  XþJ©Xod:  

(iii)  gmo_Xod:  

(iv)  am_Xod: & 

(J) ƌn`©ÝV_²ƍ BË`W} {H$_² Aì``nX§ JÚm§eo à`wªV_² ? 
(i) AV Ed  

(ii)  VV:   

(iii)  `mdV²   

(iv)  VWm{n & 

(K) ƌCÚ_rƍ B{V nXñ` qH$ n`m©`nX_² AÌ þ`wªV_² ? 
(i) {dídmgnmÌ_²   

(ii)  CÚmoJ_²  

(iii)  CÚmoJr  

(iv)  n[al_r & 

IV . Añ` AZwÀN>oXñ` H¥$Vo g_w{MV§ erf©H§$ g§ñH¥$VoZ {bIV & 

 Bg AZwÀN>oX Ho$ {bE Cn`wº$ erf©H$ g§ñH¥$V _| {b{IE & 
 Write the appro priate title for this passage in Sanskrit.  2 
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2. AYmo{b{IV§ íbmoH§$ n{R>Ëdm àXÎmàíZmZ² g§ñH¥$VoZ CÎmaV & 
 {ZăZ{b{IV ċbmoH. H.mo n«T>H.a {XE JE þċZm| Ho. Cìma gÅďHÃ.V _| Xr{OE & 

 Read the following shloka and answer the given questions in Sanskrit . 

   ƌƌd¥Îm§ ` ËZoZ g§ajoV² {dÎm_m̀m{V `m{V M & 

   AjrUmo {dÎmV: jrUmo d¥ÎmVñVw hVmo hV: &&ƍƍ   

  þċZm¥ 

 I.  EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word.  1³ 1=1 

 ̀ËZoZ qH$ g§ajoV² ? 

 II.  nyUÇdmª`oZ CìmaV 0 

  nyUÇ dmª` _| Cìma Xr{OE 0 

  Answer in a complete sentence . 1³ 2=2 

(i) {H$_² Am`m{V `m{V M ? 

(ii)  {dÎmV: jrU: OZ: qH$ H$Ï`Vo ? 

 III.  àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & 
  {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & 

  Choose and write the appropriate answer from the given 

options . 1³ 2=2 

(H$) ƌ̀m{Vƍ B{V {H«$`mnXñ` qH$ H$V©¥nX§ íbmoHo$ à`wªV_² ?  

(i) d¥Îm_²  

(ii)   `ËZoZ  

(iii)  {dÎm_² 
(iv)   jrU: & 

(I)  ƌM[aÌ_²ƍ B{V nXñ` qH$ n`m©`nX§ íbmoHo$ à`wªV_² ? 

(i) {dÎm_²  
(ii)   d¥Îm_² 

(iii)  jrU:  

(iv)   AjrU: & 
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IÊS¥> I (SECTION B)  

aMZmË_H$H$m`©_² (aMZmË_H$-H$m`©) 

 Writing Skills  15 A°>m¥ 

3. AZwO§ à{V {b{IV_² AY: nÌ§ _ÄOyfmþXìmeāX¿¥ nya{`Ëdm nwZ: {bIV & 

 AZwO H$mo {bIo JE {ZåZ{b{IV nÌ H$mo _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go nyU© H$a 
nwZ: {b{IE &  

 Complete the following letter written to your younger broth er with the 

help of the words given in the box and rewrite the same . 
2

1
³ 10=5 

 

   (i) ______________ & 

 {V{W: ____________ 
{à` (i i) _________________  

  ew^m{ef: &  

  Ah_Ì  (iii) ___________ ^dmZ² A{n VÌ Hw$ebr ApñV B{V _Ý`o & 
_mVm{nVam¡ Ëdm§ gd©Xm (iv) ____________________ & VdmJ«Om AmJm{_-gßVmho 

J¥h_² (v) ________________ &  Ëd_² A{n `{X (vi) ____________ BÀN>{g V{h© 
AmJÀN> & Apñ_Z² {df`o VdmJ«Om A{n Ëdm§ nÌ§ (vii) _____________ & Vd 

AÜ``Z§ (viii) _________________ Mb{V B{V d`§ {MÝV`m_: & AÝ`V² gdª 

(ix) ______________ & gd}ä`: {_Ìoä`: _Xr`m: ew^H$m_Zm: & 

   Vd (x) ___________  

    gwYm§ew: &  

    

_ÄOyfm 

 

bo{Iî`{V, {XëbrV:, gå`H²$, Hw$ebr, AZwO!, AmJ{_î`{V, Hw$eb_², AJ«O:, 
ñ_aV:, AmJÝVw_² & 
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4. AY: àXÎm§ {MÌ§ ÑîQ²>dm _ÄOyfm`m§ àXÎmeãXmZm§ ghm`V`m nÄM dmª`m{Z gÅďHÃ.VoZ {bIV & 

 ZrMo {XE JE {MÌ H$m dU©Z _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go nm±M g§ñH¥$V dmª`m| _| 
H$s{OE & 

 Describe the following picture in five  Sanskrit sentences with the help of 

the words given in the box  below. 2³ 5=10  

 

 

 
 

_ÄOyfm 
 

 
 
 

AWdm  (OR)  

dm{Q>H$m`m_² , ned:, nañna§, d¥j:, VS>mJñ`, Ob_², g_rno, AmJË`, {n~pÝV, n{jU:, 
A{n, ^ëbyH$:, Hw$aL²>J: & 
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 _ÄOyfmàXÎmeãXmZm§ gmhmæ`oZ {ZåZ{b{IV§ {df`_² A{YH¥$Ë` nÄM{^: gÅďHÃ.Vdmª`¿: EH$_² 
AZwÀN>oX§ {bIV &  

 _ÄOyfm _| {XE JE eãXm| H$s ghm`Vm go {ZåZ{b{IV {df` na nm±M gÅďHÃ.V dmª`m| _| EH. 
AZwÀN>oX {b{IE & 

 Write a paragraph in f ive  Sanskrit sentence s on the following topic with 

the help of the words given in the box . 2³ 5=10  

  ƌƌg§ñH¥$VnwñVH$_obH$_²ƍƍ 

_ÄOyfm 
 

 

 
IÊS¥> J (SECTION C)  

AZwà`wªVì`mH$aU_² (AZwà`wº$ ì`mH$aU) 
 Applied Grammar  30 A°>m¥ 

5. AYmo{b{IVdmª`ofw aoIm{°>VnXofw gpÝY¨ gpÝYÀN>oX§ dm H¥$Ëdm {bIV & 

 {ZăZ{b{IV dmª`m| _| aoImÅ{H.V nXm| _| gpÝY AWdm gpÝY-{dÀN>oX H$aHo$ {b{IE & 

 Write the underlined words of the following sentences after joining or 

disjoining Sandhis . 1³ 4=4  

(i) àË`oH$_² A`Zñ` Ad{Y: fÊ_mgm: & 

(ii)  ewîH$d¥jmíM _yIm©íM Z Z_pÝV H$XmMZ & 

(ii i) OJV² + B©e: gdm©Z² nmb`{V & 

(iv)  J«m_o + Apñ_Z² EH$m ZXr dh{V & 

6. AYmo{b{IVdmª`ofw aoIm{°>VnXmZmÅ g_mgÅ {dJÉhÅ dm þXìm{dH.ĉnoĂ`¥ {Médm {bIV & 
 {ZăZ{b{IV dmª`m| _| aoImÅ{H$V nXm| H$m g_mg AWdm {dJ«h {XE JE {dH$ënm| _| go MwZH$a 

{b{IE & 

 Choose and write the correct compounded or expounded fo rms of the 

underlined words in  the following sentences . 1³ 5=5  

(H$) ƌCnJ®_² A`§ {dÚmb`: emo^Vo &ƍ  
(i) J®m̀m: Xÿa_²  

(ii)   J®m§ J®m§ M  

(iii)  J®m`m: g_rn_² & 

AÝV:àdoe:, nwñVH$m{Z, OZm:, àdoenÌJ¥h_², {d{dY§ gm{hË`_², H$WmnwñVH$m{Z, 
Üd{Z_w{ÐH$m:, {_Ìm{U, {d{^Þm:, IÊS>m:, ní`pÝV, {MÌm{U, AVrd àgÞVm, bmoH$mn©U_², 
A^dV² &  
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(I)  ƌam_: _¥Jñ` níMmV² Ymd{V ñ_ &ƍ 

(i) Cn_¥J_² 

(ii)   _¥JmZwgma_² 

(iii)  AZw_¥J_² &  

 

(J) ƌ{gÕ: AW©: `ñ` g: {dhmam` dZ_² AJÀN>V² &ƍ 

(i) {gÕmW©ñ`  

(ii)   {gÕmW©: 

(iii)  {gÕmWm£ & 

 

(K) ƌnmUr M nmXm¡ M àjmë` ^moOZ§ Hw$é &ƍ 

(i) nmUrnmX_²  

(ii)   nm{UnmXm¡ 

(iii)  nm{UnmX_² &  

 

(L>) ƌàH¥${V: gñZoh§ gdm©Z² nmb`{V &ƍ 

(i) gwa¡: gh  

(ii)   ñZohoZ g{hV_²  

(iii)  gagm gh & 
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7. AYmo{b{IVdmª`ofw aoIm{°>VnXmZmÅ þHÃ.{V-àË``m¡ g§`moÁ` {d^Á` dm C{MV_² CÎma§ 

{dH$ënoä`: {MËdm {bIV & 

 {ZăZ{b{IV dmª`m| _| aoImÅ{H$V nXm| Ho$ àH¥${V-àË`̀m| H$mo Omo«S>H$a `m n¥WH²$ H$aHo$ C{MV 

CÎma {dH$ënm| _| go MwZH$a {b{IE & 

 Write the under lined  words of the following sentences  after joining or 

disjoining suffixes to  the roots or words , selecting the correct answer from 

the options given below . 1³ 5=5  

(H$) ƌÌ¡bmoª`Å XhZ² Bd àMÊS>Ádmb: A{½Z: &ƍ 

(i) Xh² + emZM²  

(ii)   Xh² + eV¥ 

(iii)  Xh² + AmZ² & 

(I)  ƌJwé§$ god² + emZM² {eî`: àgÞ: ^d{V &ƍ 

(i) god_mZm  

(ii)   god_mZ: 

(iii)  god_mZm`m: & 

(J) ƌàH¥$Vo: gwÝXaVm`m: dU©Z§ é{MH$a_² &ƍ  

(i) gwÝXa + Q>mn² 

(ii)   gwÝXaV + Vb²   

(iii)  gwÝXa + Vb² & 

(K) ƌn[al_ñ` _hV² + Ëd gd} OmZpÝV &ƍ 

(i) _hVm_² 

(ii)   _hÎd_²  

(iii)  _hËd & 

(L>) ƌHw$_ma + L>rn² dÝXZm nwînJwÀN>¡: Jwamo: ñdmJV§ H$amo{V &ƍ 

(i) Hw$_mam  

(ii)   Hw$_mar  

(iii)  Hw$_mar_² & 
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8. AYmo{b{IVdmª`ofw [aªVñWmZm{Z _ÄOyfm`m§ àXÎm¡: C{MV¡: Aì``nX¡: nya{`Ëdm {bIV & 

 {ZăZ{b{IV dmª`m| _| [aº$ ñWmZm| H$s ny{V© _ÄOyfm _| {XE JE C{MV Aì`` nXm| Ho$ Ûmam$  

H$s{OE & 

 Fill in the blanks in the following sentences with appropriate 

indeclinable  words given in the box . 1³ 5=5  

(i) a_oe: ___________ {XëbrZJa§ J{_î`{V & 

(ii)  ~mbm: J«m_§ ___________ AJÀN>Z² & 

(iii)  gwaoe: AÌ ___________ AmJ{_î`{V ?  

(iv)  ZJamV² ___________ EH$: Aml_: ApñV & 

(v) Añ` `mÀÄmm d¥Wm ___________ AñVw & 

_ÄOyfm 

               

9. C{MVgL²>»`mnXÅ {Médm dmª`m{Z nya`V & 

 C{MV g§»`m nX MwZH.a dmª` nyU© H$s{OE & 

 Choose the correct numerical w ords and complete the sentences . 1³ 5=5  

(i) nmÊS>dm: ___________ AmgZ² & (nÄMm:, nÄMm{Z, nÄM)  

(ii)  VS>mJo$ ___________ H$_bm{Z {dH$gpÝV & (MËdma:, MËdm[a, MVò:) 

(iii)  ___________ H$mo{H$bo à{V{XZ§ Hy$OV: & (Ûm¡, Û`mo:, Ûo) 

(iv)  J¥ho ___________ gwÝXa§ XodVm`VZ_² ApñV & (EH$m, EH$_², EH$:) 

(v) __ H$jm`m§ ___________  N>mÌm: gpÝV & (qÌeV², qÌeVm:, {ÌgV²) 

_m,  ~{h:,  {H$_W©_²,  íd:,  ø: & 
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10. AYmo{b{IVdmª`ofw aoIm{°>VnX_Ð Aewó_Ð ApďV 0 þXìm{dH.ĉnoĂ`¥ C{MV_² CÎma§ {MËdm 
AewÕnX§ g§emoÜ` {bIV & 

 {ZåZ{b{IV dmª`m| _| aoImÅ{H.V nX Aewó h¡ & {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a 
AewÕ nX H$mo g§emo{YV H$a {b{IE & 

 Choose the correct answer from the given options and correct the 

underlined incorrect word i n the following sentences . 1³ 6=6  

(H$) ƌg: ~m{bH$m H«$sS>{V &ƍ  
(i) ~mbH$m¡ 
(ii)   ~mbHo$ 
(iii)  ~mbH$: 
(iv)   ~mbH$m: & 

(I)  ƌíd: ^dÝV: Hw$Ì nR>W ?ƍ  
(i) AnR>Z² 
(ii)   n{R>î`pÝV 
(iii)  nR>pÝV 
(iv)   n{R>î`W & 

(J) ƌËd§ H$Xm Mb{MÌ§ Ðú`m_: ?ƍ   
(i) ní`W 
(ii)   Ðú`pÝV  
(iii)  Ðú`{g 
(iv)   ní`md: & 

(K) ƌApñ_Z² nmR>çnwñVHo$ EH$mXe nmR>m{Z gpÝV &ƍ 
(i) nmR>_² 
(ii)   nmR>m: 
(iii)  nmR>mZ² 
(iv)   nmR>: & 

(L>) ƌÛo ~m{bHo$ AÌ H«$sS>pÝV &ƍ  
(i) H«$sS>{V  
(ii)   H«$sS>V: 
(iii)  H«$sS>pÝV 
(iv)   H«$sS>W & 
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(M) ƌ̂dmZ² gwIr ^dÝVw &ƍ 

(i) ^dV  

(ii)   ^d  

(iii)  ^dVw 

(iv)   ^dVm_² & 

 
IÊS¥> K (SECTION D) 

n{R>V-Ad~moYZ_² (n{R>V-Ad~moYZ) 

 Reading Comprehension  30 A°>m¥ 

11. AYmo{b{IV§ JÚm§e§, nÚ§, ZmQ>çm§e§ M n{R>Ëdm àXÎmàíZmZm_² CÎmam{U g§ñH¥$VoZ {bIV & 

 {ZåZ{b{IV JÚm§e, nÚ Am¡a ZmQ>çm§e H$mo n«T>H.a {XE JE þċZm| Ho. Cìma g§ñH¥$V _| {b{IE & 

 Read the following prose, poetry and drama  passages and answer the 

given questions  in Sanskrit .  

 (A) JømÅe¥ 

              ƌƌAZoZ dMgm à{VhVmÝV:H$aU: àÀN>Þ^m½`: A{MÝV`V² Ɗ {H$_² BX§ dMZ§ _m_² 

Ed bú`rH$amo{V ? ƌAhmo ! Hw$_mJ©_² Am{lVñ` __ H.sïer B`Å ªboenaănam 0 

Jwê$nXoeoZ Bd AZoZ ~mbdMgm __ Mjwfr g_wÝ_r{bVo & AÚà^¥{V nmnnW§ Ë`Om{_ƍ 

B{V {d{MÝË` {_Ì§ XþîQ>~w{Õ_² AdXV² Ɗ ƌgIo ! `{X _m§ {_ÌñWmZo n[aJU`{g, V{h© 

gmYwOZJ{h©V_² B_§ nÝWmZ§ Ë`OVw ^dmZ² &ƍ 

       XþîQ>~w{Õ: Vw Vñ` gX²dMZm{Z {VañH¥$Ë` J«m_m{^_wI§ àmMbV² & àÀN>Þ^m½`: Vw 

g_wnOmV{ddoH$: ñdJ¥h§ à{V{Zd¥Îm: &ƍƍ  

 þċZm¥ 

 I.  EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word.  1 

ƌAÚà^¥{V nmnnW§ Ë`Om{_ &ƍ B{V H$: A{MÝV`V² ? 
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 II.  nyUÇdmª`oZ CìmaV 0 

  nyU© dmª` _| Cìma Xr{OE 0 
  Answer in a complete sentence. 1 

gX²dMZm{Z {VañH¥$Ë` XþîQ>~w{Õ: Hw$Ì AJÀN>V² ? 

 III.  àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & 
  {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & 

  Choose  and  write   the appropriate  answer from the given 

options . 1³ 2=2 

(H$) AZwÀN>oXo ƌnÝWmZ_²ƍB{V {deoî`nXñ` {deofUnX_² {H$_² ApñV ?   

(i) J«m_m{^_wI_²  

(ii)   nmnnW_²  

(iii)  gmYwOZJ{h©V_² 

(iv)   ñdJ¥h_² & 

(I ) ƌMjwfrƍ B{V H$V©¥nXñ` {H«$`mnX§ {H$_² ApñV ?  

(i) bú`rH$amo{V 

(ii)   g_wÝ_r{bVo 

(iii)  A{MÝV`V² 

(iv)   AdXV² & 

 

(~) nÚ_² 

 ƌƌAmMma: àW_mo Y_©: BË`oVX² {dXþfm§ dM: & 
 Vñ_mV² ajoV² gXmMma§ àmUoä`mo@>{n {deofV: &&ƍƍ 

 þċZm¥ 

 I.  EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word.  1 

àmUoä`mo@{n {deofV: H$: ajUr`: ? 
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 II.  nyUÇdmª`oZ CìmaV 0 

  nyU© dmª` _| Cìma Xr{OE 0 
  Answer in a complete sentence. 1 

ƌAñ_mH§$ ì`dhma: gå`J² ^doV²ƍB{V Ho$fm§ dMZ_² ApñV ? 

 III.  àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & 
  {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & 

  Choose  and  write   the appropriate  answer from t he given 

options.  1³ 2=2 

(H$) ƌY_©:ƍB{V nXñ` {deofUnX§ {H$_² ?     

(i) AmMma:   

(ii)   àW_:   

(iii)  {deofV:  
(iv)   dM: & 

(I)  ƌAV:ƍ Bé`W} Aê qH. nXÅ þ`wªV_² ?  

(i) EVV² 

(ii)   B{V 
(iii)  Vñ_mV²  

(iv)   A{n &  

(g) ZmQ>çm§e¥ 

ƌƌH.mo{H.b¥  Ɗ ao _`ya ! Ab_² A{V{dH$ËWZoZ & _Yw_mgo Am_«d¥jo pñWËdm `Xm 

Ah§ nÄM_ñdaoU Jm`m{_ VXm lmoVma: H$W`pÝV Ɗ  

         H$mH$: H¥$îU: {nH$: H¥$îU:, H$mo ^oX: {nH$-H$mH$`mo: & 

         dgÝVg_`o àmßVo, H$mH$: H$mH$: {nH$: {nH$: && 

H$mH$¥  Ɗ ao na^¥V ! Ah§ `{X Vd gÝVqV Z nmb`m{_ V{h© Hw$Ì ñ`w: {nH$m: ? 

AV: Ah_² Ed H$éUmna: n{jg_«mQ²> H$mH$: ! 

amOh§g¥  Ɗ emÝV§ emÝV_² ! Ah_od Zrajra{ddoH$s n{jUm§ amOm ! 

~H$¥  Ɗ {YH²$ `wî_mZ² 0 Ah_od gdÇ{eamo_{U¥ &ƍƍ 
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 þċZm¥ 

 I.  EH$nXoZ CÎmaV & 

  EH$ eãX _| CÎma Xr{OE & 
  Answer in one word.  1 

H$mo{H$b: _Yw_mgo Hw$Ì pñWËdm Jm`{V ? 

 II.  nyUÇdmª`oZ CìmaV 0 

  nyUÇ dmª` _| Cìma Xr{OE 0 
  Answer in a complete sentence. 1 

amOh§g: qH$ H$W`{V ? 

 III.  àXÎm{dH$ënoä`: C{MV_² CÎma§ {MËdm {bIV & 

  {XE JE {dH$ënm| _| go C{MV CÎma MwZH$a {b{IE & 
  Choose  and  write   the appropriate  answer from the given  

options . 1³ 2=2 

(H$) ƌH$W`pÝVƍ B{V {H«$`mnXñ` H$V©¥nX§ {H$_² ApñV ?  

(i) H$mo{H$b: 

(ii)   ~H$: 

(iii)  lmoVma: 

(iv)   H$mH$: & 

(I)  ƌAh_² Ed H$éUmna: n{jg_«mQ²>ƍ B{V dmª`o ƌAh§ƍ B{V nX§ H$ñ_¡ 

þ`wªV_² ?   

(i) H$mo{H$bm` 

(ii)   ~H$m` 

(iii)  H$mH$m` 

(iv)   amOh§gm` & 
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12. AYmo{b{IVH$WZmZm§ g_w{MV§ ^md§  {dH$ënoä`: {MËdm {bIV & 

 {ZåZ{b{IV H$WZm| H$m g_w{MV ^md {dH$ënm| _| go MwZH$a {b{IE & 

 Choose and write the correct gist of the following sentences from the 

given options . 1³ 2=2 

(H$) ƌVXodmhþ: _hmË_mZ: g_Ëd{_{V VÏ`V: &ƍ 

(i) _hmË_mZ: VÏ`V: g_ËddÝV: ^dpÝV & 

(ii)  {MÎmo dm{M M gabVm _hmË_{^: g_Ëd§ _Ý`Vo & 

(ii i) {MÎmo dm{M M gabVm§ _hmË_mZ: ñdrHw$d©pÝV & 

(I)  ƌAmnXm§ Va{U: Y¡`©_² &ƍ 

(i) Y¡`}U AmnX: Zm¡H$m Bd ^dpÝV & 

(ii)  `Wm Zm¡H$mgmhmæ`oZ OZm: nma§ JÀN>pÝV Ed_od Y¡`©~boZ OZm: AmnX²ä̀ : 
VapÝV & 

(ii i) {dnÎmm¡ OZ: VrËdm© ZXt Y¡`©_² AmßZmo{V &  

13. _ÄOyfmV: g_w{MVnXm{Z {MËdm AYmo{b{IVíbmoH$Û ñ̀` AÝd`§ nya`V & 

 _ÄOyfm _| go g_w{MV nX MwZH$a {ZåZ{b{IV XmoZm| íbmoH$m| Ho$ AÝd` H$mo nyU© H$s{OE & 

 Complet e the prose order of the following two  shlokas by choosing the 

appropriate words given in the box . 1³4=4  

(H$) ƌƌnm{nZmÄM gXm Xþ:I§ gwI§ d¡ nwÊ`H$_©Um_² & 

  Ed§  pñWaVa§  kmËdm  gmYwd¥qÎm  g_mMaoV² &&ƍƍ 

 Aûd`¥ 

 gXm nm{nZm§ Xþ:I§ (i) ______________ M d¡ gwI_² & Ed§ pñWaVa§ kmËdm  

(ii) ____________ g_mMaoV² &  
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(I)  ƌƌ̀éþmoªVÅ `oZ Ho$Zm{n Vñ` VÎdmW©{ZU©`: & 

 H.VwÈ eª`mo ^doÚoZ g {ddoH$ BVr[aV: &&ƍƍ 

 Aûd`¥ 

 `oZ Ho$Zm{n `V² þmoªVÅ Vñ` (ii i) ____________ `oZ H.VwÈ eª`: ^doV² g:  

(iv) ____________ B{V B©[aV: &  

_ÄOyfm 

 

14. aoIm{°>VnXm{Z AmY¥Ë` àíZ{Z_m©U§ Hw$éV & 

 aoIm§{H$V nXm| Ho$ AmYma na àíZ {Z_m©U H$s{OE & 

 Frame the questions on the basi s of the underlined words.  1³ 5=5 

(i) {d{MÌ: ñdßZ: _`m ÑîQ>: &  

(ii)  bmo{hVOZnXo AZoH$~m¡Õ{dhmam: gpÝV & 

(iii)  Y¡`©dmZ² gX¡d g\$bVm§ àmßZmo{V & 

(iv)  MVwX©e_ÝdÝVamUm§ g_yh: H$ën: ^d{V &  

(v) emaXm g°>ëndmMZ§ H$amo{V &  

15. AYmo{b{IVdmª`m{Z KQ>ZmHÉ._mZwgmaoU {bIV & 

 {ZåZ{b{IV dmª`m| H.mo KQ>ZmHÉ._ Ho. AZwgma {b{IE & 

 Write the following sentences in  their sequential order . 
2

1
³ 8=4  

(i) {_ÌÛ`§ Hw$nWoZ YZ§ àmßVw§ {dXoe§ JÀN>{V & 

(ii)  X¡ddemV² gn©: XþîQ>~wqÕ Xe{V & 

(iii)  gw~w{Õ: àÀN>Þ^m½`: H¥${fH$m`ª H¥$Ëdm l_nyd©H§$ YZ_² AO©`{V & 

{ddoH$:,  VÎdmW©{ZU©`:,  nwÊ`H$_©Um_², gmYwd¥{Îm_² &  
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(iv)  BX§ lwËdm XþîQ>~w{Õ: erK«_² Ed VV² joÌ§ JÀN>{V & 

(v) g: AídËW_yb§ I{ZËdm gwdU©H$be§ àmßZmo{V & 

(vi)  BX§ kmËdm XþîQ>~w{Õ: Mm¡`m©Wª Vñ` J¥h_² AJÀN>V² & 

(vii)  _mJ} H$ñ`m{n ~mbH$ñ` àíZoZ g_wnOmV{ddoH$: àÀN>Þ^m½`: J¥h§ à{V JÀN>{V & 

(vi ii)  VÌ g: àÀN>Þ^m½`ñ` ñdßZñ` {df`o dmVmª ûm¥Umo{V `V² Vñ` joÌo EH$: 

gwdU©-ny[aV-H$be: {dÚVo & 

 

16. aoIm{°>VnXmZmÅ þg²mZwgma_Ð AWÈ {Médm {bIV 0 

 aoIm§{H$V nXm| Ho$ àg§JmZwgma AW© MwZH$a {b{IE & 

 Choose and write the contextual meanings of the underlined words.  1³ 3=3  

(H$) ƌdËg ! Z OmZm{V ^dmZ² Ðm¡Uo: Mnbm§ àH¥${V_² &ƍ 

(i) eãX_yb_²  

(ii)  ñd^md_²  

(iii)  {d{eîQ>aMZm_² & 

(I)  ƌg: gì`oZ nm{UZm MH«§$ J¥hrVdmZ² &ƍ 

(i) OboZ  

(ii)  gwÝXaoU  

(iii)  hñVoZ & 

(J) ƌXþîQ>~w{Õ: {^Îmm¡ gpÝY¨ àH$ëß` H$be_² A{jnV² &ƍ 

(i) aM{`Ëdm   

(ii)  {dH$ën§ H¥$Ëdm  

(iii)  g°>ën§ H¥$Ëdm & 

 


